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£52 —RBREXAJAERBICETL_MIERBIOAEERRVREELEERRE (T4 FE)
i ‘ g | 1| TLRE | Qipm | DS 0545%&2/1 fiﬁ%ﬁggﬁﬁ
i my woE = DRFEME | o pepnng | #iz - gy | 27PHOME | ZZAM2ALLE | P
Mgt L7=ZED [0.04ppmEARZ T2
ppm ppm (SARIES H % ppm A H %
1t Wl 0.001 0.014 0 0 0.002 O 0
= wl o 0.001 0.012 0 0 0.002 O 0
2] | (0.001) (0.011) (0) (0) (0.002) (O) (0)
] % Al 0.001 0.008 0 0 0.002 O 0
- Fﬁkﬁ oo | 0.001 0.009 0 0 0.003 O 0
wono o ol 0.001 0.008 0 0 0.002 O 0
®OR 7 @l 0.001 0.013 0 0 0.002 O 0
{3 ifi| i % A (0.001) (0.006) (0) (0) (0.002) (O) (0)
% g dilE @ oh % wl 0.001 0.009 0 0 0.002 O 0
N | % Al 0.000 0.006 0 0 0.001 O 0
@ m o m 0.001 0.012 0 0 0.003 O 0
= ] 0.001 0.013 0 0 0.003 O 0
U] — -
AHE T 47kl 0.001 0.010 0 0 0.003 O 0
W | 0.001 0.008 0 0 0.002 O 0
- ﬂ?% | 0.001 0.011 0 0 0.002 O 0
- " 0.001 0.013 0 0 0.003 O 0
& BE mT|ET % Bl 0.001 0.041 0 0 0.004 O 0
] % Al 0.001 0.023 0 0 0.003 O 0
mﬁ)”ﬁﬁ)% | 0.001 0.025 0 0 0.005 O 0
53] | 0.001 0.038 0 0 0.005 O 0
R #El 0.001 0.026 0 0 0.002 O 0
W | % Al 0.001 0.010 0 0 0.002 O 0
N #] 0.001 0.008 0 0 0.002 O 0
IS ql - 0.002 0.028 0 0 0.004 O 0
i | 0.001 0.012 0 0 0.002 O 0
E| x| (0.001) (0.007) (0) (0) (0.002) (O) (0)
B | gl 0.001 0.012 0 0 0.003 O 0
8 T 0.001 0.009 0 0 0.002 O 0
i | 0.001 0.011 0 0 0.002 O 0
& | 0.001 0.006 0 0 0.002 O 0
K |l 0.001 0.006 0 0 0.002 O 0
AROBE | % Al 0.001 0.014 0 0 0.002 O 0
W | 5| 0.000 0.006 0 0 0.002 O 0
G i % Al 0.001 0.008 0 0 0.001 O 0
WA | % Al 0.001 0.010 0 0 0.002 O 0
S 5] F #Hl 0.001 0.014 0 0 0.002 0
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F5-3 —MREBRBEATAERICEITE2_BILHEEOREELIL (ELA7: ppm)
WoE R ik g ) E
. SRR 25AE | P RR264FHE | R TAEIE | TR 28AE FE| SRR 94 BE | SRR 30HEFE | 4 Fnon AR EE | A B 24 BE 4 R 3 BE | A FnAAE
B[4 51 0.001 | 0.001 | 0.001 | 0.001 0.001 0.001 0.001 0.001 0.000 0.001
Je g i #1 0.002 | 0.002 [ 0.001 | 0.001 | (0.002) [ 0.001 0.001 0.001 0.001 0.001
i #1(0.003)[(0.001){ 0.002 | 0.001 0.002 0.002 0.001 0.001 0.001 |(0.001)
i % Pl 0.003 | 0.003 [ 0.003 | 0.002 | 0.002 0.002 0.001 0.001 0.001 0.001
g FE 3 Frl 0.002 ] 0.002 | 0.002 | 0.002 0.002 0.002 0.001 |(0.001) — —
7w A A B AE] 0.002 1(0.00D)] — — - - — — — —
g B % &2 0.002 | 0.002 | 0.001 | 0.001 0.001 0.001 0.001 0.000 0.000 0.001
B/ 5 &) 0.002 | 0.001 [ 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
e B+ ] 0.002 | 0.002 | 0.002 | 0.002 0.002 0.002 0.001 0.001 0.001 0.001
A hm % o — — — — - - — — — (0.001)
F B mlE w5 5 & 0.001 | 0.001 [ 0.001 | 0.000 0.001 0.001 0.001 0.000 0.001 0.001
JIl ¥ Tl % Fr] 0.001 | 0.000 [ 0.000 | 0.000 | 0.000 0.000 0.000 | 0.000 | 0.000 [ 0.000
H #E[ 0.002 | 0.002 [(0.002)] — — — — — — —
It JE m ¥ 0.004 | 0.002 | 0.002 | 0.002 | 0.002 0.002 0.002 | 0.001 0.001 0.001
=R ER 7k] 0.005 | 0.002 | 0.002 | 0.002 0.002 0.002 0.002 0.001 0.001 0.001
NHETAZ 2R 0.003 ] 0.003 [ 0.003 | 0.003 | 0.003 0.003 0.002 | 0.001 0.001 0.001
b ] 0.004 | 0.002 | 0.002 | 0.002 0.002 0.002 0.002 0.001 0.001 0.001
HE 21 0.003 [ 0.003 ] 0.003 [ 0.003 [ 0.003 0.003 0.002 — — —
+ ] 0.002 [ 0.002 [ 0.002 | 0.002 0.002 0.002 0.002 0.001 0.001 0.001
B A W= 1 0.002 ] 0.002 | 0.001 [ 0.001 0.002 0.002 0.001 0.001 0.001 0.001
x A 7] 0.002 [ 0.002 | 0.002 | 0.001 0.002 0.001 0.001 — — —
£ s 7|y % %1 0.002 | 0.002 [ 0.002 | 0.001 0.002 0.001 0.001 0.001 0.001 0.001
il % Er] 0.002 | 0.001 [ 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
2 ] 0.003 | 0.003 ] 0.002 [ 0.002 [ 0.002 0.003 0.002 | 0.002 | 0.002 [ 0.001
g & 5 A K #E] 0.001 | 0.001 — — — — — — — —
il JAF] 0.003 | 0.002 | 0.002 ] 0.002 | 0.002 0.002 0.002 | 0.001 0.001 0.001
g ] 0.001 ] 0.001 | 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
v T % F] 0.001 | 0.001 [ 0.000 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
J\ %] 0.001 | 0.001 [ 0.000 | 0.000 0.001 0.000 0.000 0.000 0.001 0.001
i ] 0.002 | 0.002 [ 0.001 | 0.001 0.001 | (0.002) | 0.001 0.001 0.001 0.002
fiff £l 0.001 | 0.001 | 0.001 | 0.001 0.001 0.001 0.001 0.000 0.000 0.001
H ] 0.001 | 0.001 [ 0.001 | 0.001 0.001 0.001 0.001 0.000 | 0.001 |(0.001)
2 I EET ] 0.002 [ 0.002 | 0.001 | 0.001 0.002 0.001 0.001 0.001 0.001 0.001
i) +1 0.002 [ 0.002 | 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
fiff 7] 0.001 | 0.001 [ 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
= F1 0.001 | 0.000 | 0.000 | 0.000 | 0.000 0.000 0.000 | 0.000 | 0.001 0.001
s ] 0.001 [ 0.001 | 0.000 | 0.000 0.000 0.000 0.000 0.000 [ (0.000)| 0.001
R R (T % Fr] 0.001 | 0.001 [ 0.001 | 0.001 0.001 0.001 0.001 0.000 | 0.001 0.001
bl J&] 0.001 [ 0.001 | 0.001 | 0.001 0.001 0.001 0.002 0.002 0.001 0.000
L % F] 0.001 | 0.001 [ 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
PN A T % Bl 0.001 | 0.001 | 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
EX J&) - 1 0.002 | 0.002 [ 0.001 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
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®5-4 —BEBARMERICHSTIEFRRIEYOIERRERCREELEZRRT (T4 FE)

—  m b = %ﬁa“ﬂﬁ R U ER
98 Yo R Tl 1 NO.
. e | VEERE | B [ s | e | 1 BRI | e
mooE R EE i | 9% | o oo | | i R
ppm ppm ppm AR ™ oom ppm %
1t #B] 0.017 0.115 0.044 0 0.002 0.084 88.0
=N N T #l 0.013 0.075 0.032 0 0.003 0.099 83.3
P #B] 0.017 0.120 0.043 0 0.004 0.159 80.7
i [ pil 0.011 0.070 0.027 0 0.001 0.075 88.1
wmo R 3 B 0.015 0.078 0.034 0 0.003 0.092 80.7
R ﬁﬁt A ROfE] 0.012 0.069 0.027 0 0.002 0.064 85.6
BB % K| 0.007 0.054 0.020 0 0.001 0.056 87.0
WA % ] 0.008 0.049 0.017 0 0.002 0.155 78.7
W 7  EF] 0.012 0.070 0.029 0 0.002 0.097 85.5
AR mE R s Eobh 2 0.008 0.058 0.021 0 0.002 0.043 81.7
o i [T (£ Al 0.009 0.057 0.021 0 0.002 0.041 84.9
£ OB ilm W o % ] 0.008 0.052 0.022 0 0.001 0.067 87.7
JI v | (£ Al 0.008 0.056 0.020 0 0.001 0.035 85.1
= M il [ At 0.007 0.067 0.018 0 0.003 0.129 70.8
x # 0.009 0.053 0.021 0 0.001 0.045 86.0
i 0.009 0.059 0.024 0 0.002 0.080 83.2
e g m #W| 0.012 0.069 0.028 0 0.003 0.101 82.0
& H|l 0.010 0.052 0.024 0 0.002 0.088 86.2
A | 0.014 0.058 0.031 0 0.003 0.089 83.4
i K| 0.012 0.070 0.026 0 0.002 0.071 86.7
I [T #] 0.006 0.032 0.016 0 0.001 0.034 89.3
P S #| 0.006 0.045 0.015 0 0.001 0.030 91.2
€ # J Z] 0.010 0.040 0.019 0 0.005 0.099 68.1
AR T A4 7~ K’ 0.014 0.062 0.031 0 0.003 0.076 84.1
i & 0.014 0.061 0.031 0 0.004 0.107 76.7
1E 5 m] 0.014 0.063 0.031 0 0.003 0.105 80.3
IS & 0.014 0.074 0.031 0 0.002 0.074 86.0
Won $3£ | 0.012 0.076 0.025 0 0.003 0.086 79.6
= Al 0.011 0.070 0.023 0 0.002 0.067 85.0
fii 3 HT|ET [ %|_0.008 0.041 0.019 0 0.002 0.051 84.1
s JEWrET (£ %] 0.010 0.070 0.021 0 0.002 0.051 84.7
i [ At 0.009 0.046 0.019 0 0.001 0.045 86.5
B £] 0.009 0.048 0.021 0 0.002 0.074 82.5
o & FH N ’OfE] 0.006 0.033 0.013 0 0.001 0.035 85.6
il il 0.011 0.060 0.024 0 0.002 0.067 82.4
H e #| 0.007 0.047 0.017 0 0.001 0.056 85.9
o H| 0.006 0.034 0.014 0 0.001 0.028 89.4
[ ] ot} [ A1l 0.007 0.043 0.020 0 0.001 0.035 86.9
Ve | (£ Al 0.006 0.039 0.014 0 0.001 0.046 82.9
N %] 0.007 0.053 0.016 0 0.001 0.029 86.4
J& s 0.009 0.060 0.022 0 0.002 0.046 83.9
1 | 0.009 0.054 0.022 0 0.001 0.042 86.5
B ] (0.008) | (0.041) | (0.019) © (0.001) [ (0.020) | (88.8)
G (] | 0.007 0.037 0.017 0 0.001 0.051 84.0
8 +| 0.006 0.045 0.015 0 0.001 0.054 86.1
i vl 0.005 0.038 0.012 0 0.001 0.020 89.4
& =] 0.004 0.032 0.012 0 0.001 0.029 82.5
G H| 0.004 0.031 0.009 0 0.001 0.011 81.6
AN HT|ET (£ %] 0.009 0.112 0.017 0 0.004 0.390 66.5
oo o |h i3 A1 0.005 0.114 0.012 0 0.001 0.339 89.1
i IS = el i (£ Al 0.008 0.039 0.018 0 0.001 0.025 87.4
JRRE | [ A1l 0.006 0.034 0.014 0 0.001 0.013 90.2
sl | 0.002 0.019 0.007 0 0.000 0.022 84.1
£ 0 I el [ A1 0.003 0.027 0.008 0 0.001 0.085 82.5
WA i % g1l 0.006 0.053 0.016 0 0.001 0.038 85.8
£ Ja) - #|0.009 0.057 0.021 0 0.002 0.074 84.0
%) 1. A TEOERS%E) & ix, FRICHE 5 BTHIED 5 bIEy i1 598% A1 < 55 77,
2. NO, NOAS IR AE S 41T % ] ONO, i EE DA RIS D72 e
NO+NO, NO Kz ONO, A3 [FTHRRE & TV 5 BRI ONONOL I BE D EERIZ 1o 72 5 T
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#5-5-1 —BBRERKJIAERICE TSI _BIELEZROEFELEL (H(7 : ppm)
HoRr | W oE R + R ) fit
) STR254FFE | W2 64F FE | R TAE L | ST 284 FE | SRR FE | A3 0AEFE | A R AR | SFN24EFE | SRR | A AEE
it Bl 0.015 0.014 0.014 0.014 0.016 0.015 0.015 0.016 0.017 0.017
B g il Bl 0.020 0.016 0.017 0.015 0.017 0.014 0.014 0.014 0.013 0.013
5] =] (0.021) | (0.018) 0.018 0.017 0.018 0.016 0.015 0.015 0.017 0.017
il & Al 0.018 0.017 0.018 0.015 0.016 0.013 0.013 0.012 0.011 0.011
eOE X 0.020 0.020 0.020 0.018 0.018 0.017 0.015 0.015 0.015 0.015
W oE T AR 28 B AEl 0.019 0.018 (0.016) 0.015 0.017 0.014 0.013 0.012 0.012 0.012
ol b 22 4] 0.013 0.011 0.011 0.010 0.010 0.009 0.009 0.008 0.008 0.007
|/ 0.012 0.012 0.011 0.011 0.011 0.010 0.009 0.008 0.008 0.008
e B 7 0.018 0.017 0.017 0.015 0.016 0.013 0.013 0.012 0.012 0.012
B B m|EH s B 0.009 0.008 0.008 0.008 0.007 0.007 0.007 0.008 0.008 0.008
gt | T & Al 0.011 0.009 0.005 0.005 0.004 0.004 0.004 0.003 0.005 0.009
£ B ilm 7 %] 0.014 0.013 0.014 0.012 0.010 0.011 0.010 0.009 0.008 0.008
JI p8 | % Al 0.011 0.009 0.009 0.008 0.009 0.009 0.009 0.009 0.009 0.008
= W Tl % Al 0.007 0.006 0.009 0.009 0.009 0.009 0.008 0.008 0.008 0.007
i3 #El 0.014 0.013 0.013 0.012 0.013 0.010 0.010 0.010 0.010 0.009
Jii 0.013 0.013 0.013 0.012 0.012 0.011 0.011 0.009 0.009 0.009
5t @ o @] (0.015) 0.016 0.016 0.015 0.016 0.014 0.014 0.012 0.012 0.012
pra H] 0.015 0.014 0.014 0.013 0.014 0.012 0.012 0.011 0.010 0.010
ZH Bl 0.020 0.019 0.019 0.017 0.017 0.015 0.014 0.013 0.014 0.014
H )i =] 0.012 0.012 0.012 0.011 0.011 (0.010) — — — —
B Kl 0.018 0.017 0.017 0.016 0.015 0.014 0.013 0.012 0.012 0.012
P Fﬁﬁ 1 0.009 0.008 0.007 (0.008) 0.008 0.008 0.008 0.006 0.006 0.006
b Bl ] 0.008 (0.007) — — — — — — — —
[ B =l 0.009 0.008 0.008 0.008 0.008 0.007 0.007 0.006 0.006 0.006
it ] 0.010 0.010 0.009 0.009 0.009 0.008 (0.004) — — —
NET7TAZ KR 0.019 0.018 0.018 0.016 0.018 0.016 0.015 0.014 0.010 0.014
i # 0.023 0.022 0.022 0.020 0.020 0.017 0.016 0.016 0.015 0.014
[ES = | 0.021 0.021 0.020 0.018 0.019 0.017 0.016 0.015 0.015 0.014
e =l 0.018 0.017 0.017 0.016 0.016 0.015 0.014 0.013 0.015 0.014
5 41 0.010 0.009 — — — — — — — —
+ +| 0.017 0.015 0.016 0.014 0.014 0.013 0.012 0.012 0.011 0.012
/= [ s o1 Hl 0.013 0.012 0.014 0.012 0.013 0.011 0.011 0.010 0.010 0.011
N S %] 0.018 0.012 0.016 0.013 0.014 0.013 0.012 — — —
T Ly 7 21 0.011 0.010 0.010 0.009 (0.009) 0.010 0.009 0.009 0.008 0.008
AR WT|AT 5 21 0.014 0.014 0.014 0.013 0.014 0.013 0.012 0.012 0.011 0.010
i 5 Al 0.013 0.012 0.012 0.011 0.011 0.011 0.010 0.009 0.009 0.009
& ] 0.014 0.013 0.013 0.013 0.013 0.011 0.010 0.010 0.010 0.009
0 T s 7 N B OAElL 0.009 0.008 0.008 0.008 0.008 0.007 0.007 0.006 0.006 0.006
il JFl 0.015 0.014 0.014 0.014 0.014 0.014 0.012 0.012 0.012 0.011
H g =l 0.011 0.010 0.009 0.009 0.009 0.009 0.009 0.008 0.007 0.007
D H] 0.009 0.008 0.008 0.007 0.008 0.007 0.006 0.006 0.006 0.006
R | % Al 0.013 0.013 0.012 0.011 0.012 0.012 0.010 0.009 0.007 0.007
v T % Al 0.005 0.005 0.005 0.006 0.006 0.006 0.006 0.006 0.006 0.006
J\ ] 0.011 0.010 0.010 0.009 0.009 0.009 0.008 0.007 0.007 0.007
IS Jil 0.014 0.013 0.013 0.012 0.012 (0.013) 0.011 0.010 0.01 0.009
fifi Bl 0.015 0.014 0.013 0.012 0.013 0.011 0.010 0.009 0.010 0.009
H #l 0.012 0.011 0.011 0.010 0.011 0.010 0.009 0.008 0.009 (0.008)
I S o P Bl 0.012 0.010 0.010 0.008 0.009 0.009 0.008 0.007 0.007 0.007
ikl +| 0.010 0.010 0.010 0.009 0.009 0.008 0.007 0.007 0.007 0.006
fifi il 0.010 0.009 0.009 0.008 0.008 0.007 0.006 0.006 0.005 0.005
&= | 0.007 0.007 0.007 0.006 0.007 0.006 0.006 0.005 0.005 0.004
o H] 0.005 0.006 0.005 0.005 0.005 0.004 0.004 0.004 (0.004) 0.004
K WT|ET 7 21 0.012 0.012 0.014 0.012 0.013 0.011 0.010 0.009 0.009 0.009
(XNl % Al 0.007 0.007 0.007 0.006 0.007 0.006 0.006 (0.006) 0.006 0.005
M A T % Al 0.013 0.013 0.012 0.011 0.011 0.010 0.009 0.009 0.008 0.008
Jr BE | % Al 0.010 0.010 0.009 0.008 0.009 0.008 0.007 0.006 0.006 0.006
WA JEl 0.004 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.002
L nn & Al 0.006 0.005 0.004 0.004 0.004 0.001 0.003 0.003 0.003 0.003
WA T % Al 0.009 0.008 0.009 0.008 0.008 0.007 0.007 0.006 0.006 0.006
EN Ja) - I 0.013 0.012 0.012 0.011 0.012 0.010 0.010 0.009 0.009 0.009

WEE) () IZTADRERREBIEL QURWEEEER T, o, 2R FHEREN L,




#&5-5-2 —EBEXSAERICHITA—BILEROEFEL (HSA7  ppm)
o | W oE R T B 5] I
i SR 254F FE | SR 264F FE | SR TAE FE | 2 84F FE | 2 94F FE | P 304F FE | S RN TTAEFE | A FN24ESE | DFISHESE | S FnAGEE
Jt 1 0.003 0.002 0.002 0.002 0.003 0.003 0.003 0.003 0.002 0.002
B & i 1 0.005 0.004 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003
A | (0.005) | (0.006) 0.005 0.005 0.005 0.004 0.004 0.004 0.004 0.004
i s il 0.004 0.004 0.004 0.003 0.003 0.002 0.002 0.002 0.001 0.001
o . % |l 0.008 0.007 0.007 0.006 0.005 0.004 0.004 0.004 0.003 0.003
7wl A 2 B OfE] 0.005 0.005 (0.004) 0.004 0.004 0.003 0.003 0.002 0.002 0.002
- O 2 &) 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001
a5 &l 0.005 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.002 0.002
e B [E] 0.005 0.004 0.004 0.004 0.003 0.004 0.003 0.002 0.002 0.002
2 E il B/ 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
g+ P} il s il 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002
£ B dilm 7o % Bl 0.004 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001
JII V8 i s il 0.003 0.004 0.003 0.001 0.003 0.002 0.003 0.005 0.008 0.001
= MW Tl s il 0.002 0.002 0.002 0.002 0.003 0.004 0.003 0.003 0.004 0.003
H_ #l 0.003 0.002 0.002 0.002 0.003 0.002 0.002 0.002 0.002 0.001
H 0.002 0.002 0.002 0.003 0.003 0.003 0.002 0.002 0.002 0.002
e JFE ¥ (0.004) 0.004 0.004 0.003 0.004 0.003 0.004 0.003 0.003 0.003
£ Hl 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002
ZH l 0.006 0.006 0.006 0.005 0.004 0.004 0.003 0.003 0.003 0.003
= )i =] 0.002 0.002 0.001 0.002 0.002 (0.001) — — — —
Eilg Kl 0.004 0.004 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002
] ] 0.001 0.001 0.001 (0.001) 0.001 0.002 0.001 0.001 0.001 0.001
MEH [ il | 0.001 (0.001) — — — — — — — —
A EN ]l 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
it #l 0.004 0.003 0.003 0.003 0.003 0.002 (0.000) — — —
I # N £ — — — — — — — — 0.004 0.005
NET7TA 7 Rl 0.005 0.004 0.004 0.003 0.004 0.003 0.003 0.003 0.003 0.003
H =l 0.011 0.008 0.009 0.007 0.007 0.006 0.005 0.005 0.005 0.004
{F &= ]l 0.008 0.006 0.006 0.005 0.006 0.005 0.004 0.004 0.004 0.003
s =l 0.004 0.004 0.003 0.004 0.004 0.003 0.003 0.002 0.002 0.002
2 41 0.002 0.002 — — — — — — — —
+ 1 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003
< vl Hl 0.003 0.003 0.003 0.003 0.003 0.002 0.003 0.003 0.002 0.002
K /S £l 0.005 0.005 0.004 0.003 0.003 0.003 0.003 — — —
b £ WT(HT % 21 0.002 0.002 0.002 0.001 (0.001) 0.002 0.002 0.002 0.002 0.002
% BE ET[ET s 21 0.003 0.003 0.003 0.002 0.003 0.002 0.003 0.003 0.003 0.002
i % il 0.003 0.002 0.003 0.002 0.003 0.002 0.002 0.001 0.001 0.001
JE ] 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002
T =5 A B OEl 0.002 0.002 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001
il JFl 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002
i i =1 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
bz Hl 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
=R % il 0.004 0.003 0.002 0.002 0.003 0.004 0.002 0.002 0.002 0.001
[l il s il 0.002 0.001 0.002 0.002 0.002 0.002 0.003 0.002 0.001 0.001
J\ 1 0.002 0.002 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001
)N ]l 0.004 0.003 0.003 0.003 0.003 (0.002) 0.002 0.002 0.002 0.002
fiff EEl 0.004 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001
=] | 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 (0.001)
s o P Tl 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001
ik 1 0.002 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001
fiff 7l 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& F| 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
AR Hl 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 (0.000) 0.001
X f- HT[HET s 21 0.003 0.003 0.004 0.005 0.005 0.005 0.006 0.004 0.004 0.004
o0 s il 0.001 0.002 0.001 0.001 0.001 0.001 0.001 (0.001) 0.001 0.001
M A flh % il 0.008 0.007 0.005 0.005 0.004 0.003 0.003 0.002 0.002 0.001
o5 R s il 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
PF W TlAA 5] 0.001 0.000 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.000
ENEEELE % il 0.001 0.001 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.001
WA T s Bl 0.002 0.002 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.001
E J&) - I 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002
W) ()L R R T E L CU R A e, X Al P A L




R5-6-1 —MBRBATAERICETSFEHMTRYEOREHERR VRIFHEZHFRR (F504 F5)

iy | M | ywmgs | Bgms | HPIEO g g
i Wy woE & TR o 0.20mg,/m*% | 0.10mg,/m'% | 2PFRME Ni- 17 5 s agqin
' | mgmt | BRI | R A e |0-10me/miZ AT AL
4k #] 0.013 0.064 0 0 0.029 0
Je W [ #] 0.013 0.059 0 0 0.025 0
P #] 0.014 0.080 0 0 0.030 0
il & il _0.016 0.095 0 0 0.035 0
R X il 0.014 0.072 0 0 0.029 0
W ﬁE ZNIA E 5] 0.014 0.078 0 0 0.031 0
BB % K] 0.016 0.094 0 0 0.033 0
o % ] 0.014 0.085 0 0 0.029 0
I 0.014 0.072 0 0 0.032 0
B R mEe sy EAFER| 0.014 0.086 0 0 0.031 0
{Eal [ & il _0.014 0.067 0 0 0.029 0
T OB e A % & 0.013 0.082 0 0 0.026 0
JIL V8 | & il _0.013 0.103 0 0 0.028 0
= W W & il _0.014 0.096 0 0 0.028 0
H #t| 0.012 0.078 0 0 0.029 0
it 0.012 0.074 0 0 0.025 0
& B M #] 0.012 0.126 0 0 0.030 0
& H] 0.012 0.080 0 0 0.026 0
A Bl 0.014 0.076 0 0 0.030 0
o $ﬁ: K| _0.012 0.079 0 0 0.029 0
] #] 0.012 0.073 0 0 0.025 0
P ED %] 0.013 0.097 0 0 0.027 0
i # J0 %] 0.014 0.108 0 0 0.028 0
AHTA4Z7 v Rl 0.013 0.194 0 0 0.034 0
i &l 0.011 0.101 0 0 0.027 0
b &l 0.013 0.081 0 0 0.030 0
T ﬁ% | 0.016 0.103 0 0 0.039 0
— Al 0.018 0.087 0 0 0.043 0
fig & Wy{Ey #% % 0.017 0.073 0 0 0.035 0
iU L] #% %| 0.016 0.070 0 0 0.031 0
il & il _0.014 0.073 0 0 0.031 0
2 ] 0.015 0.069 0 0 0.032 0
L& F A R OfE0.015 0.200 0 0 0.031 0
bufﬁ)llﬁ]%ﬂ K| 0.014 0.109 0 0 0.031 0
H H %] 0.013 0.091 0 0 0.027 0
F ] 0.013 0.192 0 0 0.028 0
IR Al hil & il _0.013 0.097 0 0 0.029 0
[N A i & il _0.014 0.098 0 0 0.033 0
N %] _0.014 0.134 0 0 0.033 0
A sl 0.015 0.099 0 0 0.031 0
il B 0.012 0.054 0 0 0.026 0
B ] (0.017) | (0.069) © © (0.033) ©
G T ] | 0.015 0.097 0 0 0.035 0
4 1| 0.013 0.097 0 0 0.031 0
il 7wl 0.013 0.087 0 0 0.029 0
i =] 0.013 0.064 0 0 0.028 0
iy H] 0.012 0.084 0 0 0.027 0
X+ HT[HET #% % 0.015 0.092 0 0 0.033 0
= O O fi|h & Prl_0.012 0.110 0 0 0.026 0
A | & Prl_0.012 0.115 0 0 0.034 0
R R W & il _0.013 0.090 0 0 0.030 0
b ki ] 0.012 0.071 0 0 0.025 0
o o & il _0.014 0.090 0 0 0.029 0
b I N s} & il 0.016 0.079 0 0 0.033 0
ES J5 - ¥ 0.014 0.093 0.030
(B%E) 1 RWOFEICHE T SREPEEORR L X, TEMEE U CIELE 1R EEOE T NG, 2 %R H S b0k

BRA L7 (2 %BRIME) A30. 10mg/m LA FTH Y, 2o, HFEEIEH0. 10mg/mZ B2 2 AA 2 HLL B LRV &, |
=),
MRS 2 BREEIMEDERL L 1T, [ 1RO 1 B FEEEA30. 10mg/niLL FTH Y . 2>, 1 KK A30. 20mg/ ni
LFTChsrZ &, | 209,
2 ZORITBWT, THEHED 2 %ERIME] ORT TX ] 132 %ERIMED0. 10mg/m* 2B L2 L&, TA] I3,
2 H e T B EAME230. 10mg/m 2Bl L7z 2 & &R L, ERRHMMIC W CEREEENREZER TH D Z L 21T,
3 ZORICPEWT NEERMEAR0. 20mg/m’ % 8 2 7-FE0 O, E7213,  THFEHMEA0. 10mg/n’ 248 % 72 0¥k @
WA 1 BL L OB Cdo B Huaiix, EHFTN CEREERENRRER CH D Z L 2R T,
4 ) IIAEDMERREIEL W RWEEZR T, £, 2REERENE L,



#5-6-2 —BBRBEATIERICHTHHMNAUFRODEDAERER R VRBEEZFRIRR
H 2B D98 % fiE AL fE
=L
» o BB ez | s e | 4 4 e | 4 2 e |4 8 dpe| A0 4 fp
i W o R | ER
1 g/m’ 1 g/m’ 1 g/m’ 1 g/m’ 1 g/m’ 1 g/m
IES N GR 5y 28.7 22. 4 22.3 11. 1 10. 1 10.8
e ik B f [l 25.7 20. 8 20. 3 10. 6 8.8 8.9
i LR 23.7 16.7 16.7 7.5 6.1 6.3
7 mlm % Fril B 23.2 17.9 15.6 8.5 7.5 6.5
ES S SIS 24.3 17.2 16.7 8.0 6.9 7.0
I G 22.3 14.8 14.9 7.1 5.3 5.4
= H Wi & ] & 23.4 15. 7 16. 6 7.2 6.2 6.7
H 4 D 24. 4 16.5 18.5 9.6 7.6 8.8
i ifi 24.8 20.9 19.7 9.7 9.1 9.2
L FE RO 27. 4 23. 1 22.2 11.0 9.7 9.5
& ml h 24.2 21.0 18. 1 9.5 8.5 8.4
gzl BE T 29. 6 23.8 21.7 12.2 11.2 10.5
H JIL &l W — 22.9 20. 5 — 9.1 9.1
o7 iR K| 23.8 22.3 22.6 9.2 9.5 10. 3
Jif] il M 29. 7 22.7 21.8 10.9 9.5 10. 2
A2 i 26. 0 21.7 19. 4 9.9 8.9 8.7
b #= )\ Z| & — 20. 2 19.7 — 9.5 9.7
e i 23.2 19. 1 18.5 9.2 8.2 8.5
i e i 25.9 19.8 19. 1 10. 1 8.7 8.2
b =1 i 28.7 24.7 22. 1 11.6 11.3 9.4
oA ﬁﬁ + f 26.5 22.6 23.0 10.0 9.3 10. 1
— 7 G 29.5 26. 8 25. 0 10. 8 10.5 10. 8
fa £ Wy & B K 30.9 24.1 24.1 10. 8 9.6 10.5
i LI 31.7 22.5 21.5 10.5 8.3 9.3
IR S5 Bt 30. 3 21.3 21.8 10.7 9.2 9.8
il F Ji51 30. 0 22.9 24.8 11. 1 10. 2 11.1
HEAHFNRE T 31.7 26. 3 25.0 13.3 13.0 10.7
SRRt i S 31.8 23.5 27.2 12.1 10.9 12.2
[Nl R i 25.6 15.5 15.1 7.7 5.8 5.3
Jis pii| I 32.3 24. 2 23.0 13.5 11.3 9.7
=| i 30. 3 21.4 (19.8) 11.8 9.4 (8.7)
M Tl E54 il 30. 3 19.8 19.0 10.7 8.0 8.2
4 +| H 28. 8 20. 1 21. 4 9.4 8.7 9.6
£ 5] i 27.3 17.9 20. 0 10.5 7.5 8.9
N I 27.9 17.7 19.0 8.3 7.4 6.9
oot % R & (29.7) 17.6 17.0 (9. 5) 6.2 5.9
] i i 25.9 17.0 18.0 7.9 6.6 6.0
-] i S 25. 8 18. 6 18.0 8.4 6.9 6.9
it be IR 22.9 15.5 17.9 7.5 5.8 6.4
= L] i s 23.9 19.3 19. 2 10.0 8.9 9.0
A Nt R i I 15.5 13.9 13.0 5.3 5.1 4.7
WE R - E 26. 8 20. 3 20. 0 9.8 8.5 8.6
(385 ] [41)5] [40/5] (385 ] [41)5] [40)5]
(BE) | BEAEOER L, [ 1EFSER g/’ THY, 2o, TEMICEIT S 1 B THHE
DB, RN P BHI8WITHYTHHONBug/m U FTHDHZ &, | 2D,
2 T—] L., HIERRBREEZEDZD, T—2NR2WNWI L &R,
3 () 1E, ARAERME (2508 /%) IZEL TWARWROMERT,
4 RPERFEEEZ. [ INORBOFEEIEOFEE T, A2hE R (2508 /4) 12

L TWRWROEFEEMEZ RV TRE LT,




#5-1T —BREBREXKJAERICEFTSH2ZHEMTFRKYDEOREEIL (Bif:mg/m?)
WoE : : A uE " r) 1
X SRR 254E FE | SERRO6AE FE | Pk 274E FE | SRR 28AE E | R 2OAE HE | K 30AE JEE | 4 FTT AR FE | 45 Fn 24 B | 45 i S4F JEE | 45 Fn44EJEE
E[d el 0.021 0.019 0.017 0.016 0.018 0.016 0.013 0.013 0.012 0.013
Je W | | 0.017 0.013 0.013 0.015 0.017 0.017 0.016 0.014 0.013 0.013
B #B] €0.031) | (0.023) 0.021 0.021 0.020 0.018 0.017 0.016 0.015 0.014
i % Ar]l 0.021 0.020 0.022 0.019 0.019 0.021 0.017 0.018 0.017 0.016
s B & Frl _0.025 0.022 0.020 0.018 0.021 0.022 0.020 0.017 0.013 0.014
e T A A K fE] 0.020 0.020 (0.022) 0.016 0.017 0.016 0.015 0.015 0.014 0.014
FOBE % 4] 0.023 0.021 0.021 0.021 0.020 0.019 0.018 0.017 0.018 0.016
oo 5 ] 0.019 0.021 0.017 0.016 0.017 0.016 0.015 0.016 0.014 0.014
i F 1 FH| 0.021 0.019 0.018 0.017 0.018 0.015 0.014 0.014 0.012 0.014
A B |EIE s BN 0.020 0.018 0.017 0.017 0.018 0.018 0.016 0.016 0.014 0.014
Gt i % Frl 0.017 0.019 0.015 0.013 0.015 0.017 0.015 0.013 (0.013) 0.014
£ B & 7% %] 0.019 0.016 0.013 0.012 0.016 0.015 0.014 0.014 0.013 0.013
JIL 78 T % Frl 0.017 0.016 0.015 0.015 0.014 0.013 0.012 0.013 0.011 0.013
= MW W % Frl 0.021 0.020 0.017 0.016 0.016 0.016 0.014 0.014 0.013 0.014
H #E| 0.019 0.015 0.018 0.017 0.018 0.018 0.014 0.014 0.012 0.012
e 0.019 0.018 0.018 0.016 0.016 0.015 0.013 0.012 0.011 0.012
It JE m | 0.025 0.020 0.019 0.017 0.017 0.018 0.015 0.014 0.013 0.012
= H] 0.019 0.018 0.017 0.017 0.016 0.017 0.014 0.014 0.012 0.012
A BEl 0.022 0.020 0.018 0.018 0.018 0.016 0.014 0.015 0.012 0.014
H JI =] 0.019 0.018 0.016 0.016 0.015 (0.019) — — — —
ER k| 0.024 0.017 0.018 0.019 0.017 0.016 0.014 0.014 0.012 0.012
wWoOE i) ] 0.020 0.019 0.018 0.018 0.018 0.016 0.014 0.014 0.012 0.012
fif il A1 0.021 0.021 — — — — — — — —
[ + #l 0.016 0.017 0.016 0.014 0.016 0.015 0.013 0.014 0.012 0.013
4t ] 0.017 0.016 0.016 0.013 0.014 0.014 (0.010) — — —
b % — — — — — — — — 0.011 0.014
NHETA 7R 0.020 0.019 0.019 0.017 0.018 0.017 0.014 0.014 0.013 0.013
i ] 0.025 0.017 0.018 0.017 0.016 0.015 0.011 0.012 0.011 0.011
HE ] 0.028 0.018 0.019 0.018 0.019 0.019 0.015 0.016 0.012 0.013
= 4] 0.018 0.018 — — — - — — — —
+ +] 0.024 0.025 0.019 0.021 0.022 0.022 0.019 0.018 0.016 0.016
oA W= Rl 0.023 0.022 0.020 0.018 0.020 0.022 0.019 0.018 0.018 0.018
x A £r] 0.024 0.026 0.021 0.021 0.022 0.020 0.016 — — —
fg 3 HT|HT % %l 0.027 0.027 0.025 0.022 (0.023) 0.020 0.021 0.018 0.016 0.017
L % | 0.021 0.020 0.019 0.015 0.016 0.015 0.018 0.017 0.016 0.016
M % Arl 0.023 0.021 0.018 0.017 0.018 0.018 0.015 0.015 0.014 0.014
2 | 0.026 0.026 0.025 0.024 0.022 0.022 0.018 0.021 0.021 0.015
1+ )11 i &£ ’OfEl 0.022 0.020 0.019 0.017 0.018 0.018 0.015 0.016 0.014 0.015
| AF|l 0.023 0.022 0.019 0.018 0.018 0.018 0.016 0.016 0.014 0.014
W b #| 0.021 0.023 0.021 0.020 0.018 0.016 0.014 0.013 0.012 0.013
g Hl 0.025 0.026 0.021 0.019 0.021 0.020 0.018 0.018 0.016 0.013
=R A Lkl % Frl 0.023 0.022 0.019 0.018 0.019 0.021 0.018 0.020 0.016 0.013
[l il % Frl 0.015 0.015 (0.018) 0.016 0.016 0.017 0.015 0.014 0.012 0.014
J\ %] 0.020 0.021 0.020 0.019 0.018 0.018 0.016 0.015 0.014 0.014
)i fH] 0.020 0.019 0.018 0.019 0.020 (0.022) 0.017 0.015 0.013 0.015
fiff BEl 0.020 0.018 0.019 0.018 0.017 0.018 0.015 0.014 0.012 0.012
H | 0.021 0.020 0.019 0.019 0.019 0.020 0.017 0.017 0.016 (0.017)
= S o T ] 0.025 0.020 0.019 0.019 0.021 0.021 0.016 0.017 0.014 0.013
i T 0.022 0.024 0.020 0.015 0.016 0.016 0.015 0.014 0.013 0.013
fiff 78] 0.019 0.017 0.020 0.016 0.017 0.018 0.014 0.014 0.012 0.013
= =F| 0.017 0.016 0.016 0.015 0.015 0.015 0.014 0.014 0.013 0.013
R H] 0.018 0.017 0.016 0.016 0.017 0.017 0.013 0.013 (0.013) 0.012
X WT[mT % | 0.016 0.015 0.019 0.018 0.018 0.019 0.017 0.015 0.014 0.015
7= o O il % Frl _0.014 0.017 0.015 0.015 0.015 0.015 0.014 0.017) 0.012 0.012
A T % Frl 0.019 0.014 0.013 0.013 0.015 0.017 0.015 0.014 0.012 0.012
7& B m|H % Frl 0.021 0.017 0.015 0.014 0.015 0.018 0.016 0.015 0.012 0.013
L Jil 0.025 0.026 0.018 0.025 0.022 0.027 0.023 0.022 0.018 0.012
B % Frl 0.022 0.019 0.019 0.018 0.016 0.018 0.015 0.015 0.013 0.014
MoA T % Frl 0.018 0.014 0.012 0.011 0.019 0.018 0.016 0.015 0.015 0.016
N J&) S 1 0.021 0.019 0.018 0.017 0.018 0.018 0.016 0.015 0.014 0.014

{E%E) () ITARDRERBIEIEZEL TORVWEE R R T, $o, RRTFHERES L,




®5-8 REEAFIHLIOAERRER

VIRREEERRRE (FH44

)

B O oo gy g ] RO LIRS TERIO 1R
ol o = 1 BEREME o %@@%%@ 0. O6ppm%%@f: 0. lgppmug:@ﬂéf
g I E RERIEOL OV H 1% M OVH 4%
ppm ppm RER Bk H#k | FRRE EES
1 i (0.036) (0.092)]  (302) (60) (0) (0)
IR B i 0.033 0.094 317 67 0 0
i i (0.036) (0.102)]  (301) (59) (0) (0)
i i 0.032 0.100 227 58 0 0
P 0.034 0.123 428 86 3 1
W A A KW 0.033 0.101 322 71 0 0
A 0.035 0.098 310 64 0 0
TR 0.034 0.104 352 69 0 0
G 0.033 0.113 273 64 0 0
= B h§H s EER 0.035 0.099 268 51 0 0
i hlm & 77 0.031 0.092 217 49 0 0
T B ilm 9 T F R 0.034 0.095 265 63 0 0
I 78 hm & 77 0.032 0.101 257 54 0 0
= W m|n & i 0.033 0.107 337 59 0 0
i it 0.033 0.101 211 47 0 0
i 0.035 0.112 329 66 0 0
% E 0.032 0.104 282 69 0 0
= i 0.034 0.105 387 84 0 0
A 7 0.031 0.105 260 66 0 0
A Ji] & 0.036 0.121 433 79 1 1
(AN - X 0.032 0.088] 2838 63 0 0
7 i 0.035 0.104 402 80 0 0
i 0 = 0.037 0.112 394 75 0 0
[ R 0.038 0.124 454 81 3 1
Tt W AN % 0.031 0.106 334 66 0 0
v 5 0.032 0.117 289 73 0 0
P + 0.030 0.096 163 44 0 0
— 5 0.035 0.099 441 87 0 0
T T 1 0.035 0.095 391 76 0 0
% Wl % B 0.034 0.099 354 71 0 0
o g 77 0.034 0.107 386 80 0 0
moE ol R T 0.033 0.100 357 76 0 0
T &= 0.034 0.091 324 68 0 0
m W i & i 0.033 0.104 433 81 0 0
T 77 0.032 0.104 302 65 0 0
I IS 0.027 0.090 202 44 0 0
S i 0.031 0.082 208 53 0 0
i [ 0.028 0.087 154 38 0 0
B s (0.034) (0.092)] (261) (56) (0) (0)
U S [ 0.031 0.093 302 66 0 0
W ik 0.032 0.093 280 59 0 0
i 7 0.030 0.096 244 52 0 0
% % 0.032 0.095 306 65 0 0
IS i 0.027 0.081 57 19 0 0
N T 1 0.037 0.104 562 109 0 0
- 5> O fi|m & i 0.034 0.109 368 74 0 0
G 77 0.031 0.103 320 67 0 0
T i 0.036 0.102 442 84 0 0
W i 5 0.030 0.105 299 60 0 0
T i 0.032 0.091 211 38 0 0
TS it 0.037 0.133 383 85 1 1
WE%Z) 1 JREHAEE. EESoMERIZ. 4 A2 5100 ETOMEHED=D () 2 LTS,




RS9 RIEFAFIHL LOBREEI (B4 : ppm)
T T T 2] T
~ SPRR2BAELE | AR 264F S | Rk 2 T4 L [ SRR 284 | R 2O4E IE | R BO4RIE | I FIOC AR JEE | 75 F0 2 4R S 45 Fn 3 AR | A5 4 4RI
s #B] (0.035) | (0.034) | (0.036) | (0.035) | (0.036) | (0.033) | (0.038) | (0.037) | (0.037) | (0.036)
=R N #) 0.031 | 0.031 | 0.032 | 0.033 | 0.034 | 0.031 | 0.032 | 0.031 | 0.031 | 0.033
Fj #B] (0.037) | (0.033) | (0.034) | (0.038) | (0.038) | (0.034) | (0.036) | (0.035) | (0.035) | (0.036)
M %  fr 0.032 | 0.031 | 0.032 | 0.032 | 0.032 | 0.031 | 0.031 | 0.032 | 0.032 | 0.032
W R 3 ph| 0.032 | 0.033 | 0.033 | 0.033 | 0.033 | 0.032 | 0.033 | 0.033 | 0.034 [ 0.034
W OE A 4y B fE| 0.033 | 0.032 | (0.036) | 0.033 | 0.032 | 0.031 | 0.033 | 0.034 [ 0.034 | 0.033
H g 5 4] 0.032 | 0.034 | 0.034 | 0.031 | 0.034 | 0.029 | 0.034 | 0.035 | 0.036 | 0.035
[ /5 ] 0.036 | 0.035 | 0.035 | 0.035 | 0.035 | 0.034 | 0.035 | 0.035 | 0.035 | 0.034
#e W -+ [H] 0.033 [ 0.033 | 0.033 | 0.034 | 0.033 | 0.033 | 0.033 | 0.033 | 0.034 | 0.033
R d|§iH s ER] 0.033 | 0.036 | 0.038 | 0.037 | 0.038 | 0.036 | 0.037 | 0.037 | 0.037 | 0.035
{51 mijdi % A 0.028 | 0.032 | 0.034 | 0.035 | 0.034 | 0.034 | 0.032 | 0.034 | 0.030 | 0.031
£ B di|m Al H A8 0.034 | 0.034 | 0.035 | 0.034 | 0.035 | 0.035 | 0.035 | 0.035 | 0.034 | 0.034
Ju v i f&x  pr] 0.032 | 0.026 | 0.029 | 0.028 | 0.030 | 0.030 | 0.031 | 0.028 | 0.028 | 0.032
— M wif  #& A 0.034 | 0.035 | 0.036 | 0.031 | 0.037 | 0.032 | 0.032 | 0.032 | 0.032 | 0.033
L #] 0.034 | 0.032 | 0.034 | 0.033 | 0.034 | 0.032 | 0.033 | 0.033 | 0.034 | 0.033
b 0.033 | 0.033 | 0.033 | 0.035 | 0.035 | 0.034 [ 0.034 | 0.035 | 0.036 | 0.035
fo B M #| 0.028 | 0.031 | 0.033 | 0.033 | 0.032 | 0.030 | 0.030 | 0.031 [ 0.032 | 0.032
= M| 0.034 [ 0.032 | 0.032 | 0.034 | 0.035 | 0.034 | 0.032 | 0.034 | 0.035 | 0.034
H J&| 0.030 | 0.030 | 0.031 | 0.031 [ 0.032 | 0.030 | 0.030 [ 0.031 | 0.031 | 0.031
H  JiI | 0.035 | 0.034 | 0.036 | 0.036 | 0.037 | (0.048) — — 0.036 | 0.036
ST Eil3 k| 0.030 | 0.031 | 0.031 | 0.032 | 0.033 | 0.031 | 0.031 | 0.032 | 0.032 | 0.032
[i] ] 0.035 | 0.035 | 0.037 | 0.037 | 0.037 | 0.035 | 0.035 | 0.036 | 0.036 | 0.035
1 %] 0.037 | 0.037 | 0.038 | 0.038 | 0.037 | 0.036 | 0.035 | 0.036 | 0.038 | 0.037
B % 0.038 | 0.037 | 0.038 | 0.039 | 0.041 | 0.039 | 0.039 | 0.038 [ 0.039 | 0.038
At ] 0.036 | 0.035 | 0.035 | 0.035 | 0.034 | 0.033 | 0.032 | 0.032 — —
AN — — — — — — — 0.032 | 0.031
e Bl = — 0.031 | 0.031 | 0.033 | 0.031 | 0.029 | 0.031 | 0.033 | 0.032
E= &] 0.037 | 0.036 — — — — — — — —
+* +] 0.032 | 0.029 | 0.032 | 0.032 | 0.033 | 0.031 | 0.032 | 0.032 | 0.033 | 0.030
S S ] 5] 0.035 | 0.033 | 0.034 | 0.035 | 0.035 | 0.035 | 0.035 | 0.035 | 0.034 | 0.035
KX A & 0.032 | 0.031 | 0.031 | 0.032 | 0.033 | 0.032 | 0.033 — — —
fii 3 Hrmy % 4] 0.036 | 0.030 | 0.034 | 0.035 | (0.044) | 0.035 | 0.034 | 0.035 [ 0.037 | 0.035
# B )T % 5] 0.034 | 0.032 | 0.033 | 0.034 | 0.035 | 0.033 | 0.033 | 0.034 | 0.033 | 0.034
M %  pr| 0.033 | 0.034 | 0.034 [ 0.033 | 0.035 | 0.034 [ 0.034 | 0.035 | 0.035 [ 0.034
p)I L i ol ] 0.034 | 0.032 | 0.033 | 0.033 | 0.035 | 0.034 | 0.033 | 0.034 | 0.034 | 0.033
R th | 0.036 | 0.034 | 0.035 | 0.034 | 0.035 | 0.034 | 0.035 | 0.036 | 0.036 | 0.034
m W i 4% Fr 0.030 | 0.030 | 0.032 | 0.033 | 0.034 | 0.032 | 0.031 | 0.031 | 0.028 | 0.033
W M i % Pr| 0.023 | 0.033 | 0.031 | 0.035 | 0.035 | 0.032 | 0.033 | 0.032 | 0.032 | 0.032
J\ ] 0.029 | 0.028 | 0.030 | 0.031 | 0.035 | 0.034 | 0.034 | 0.036 | 0.030 | 0.027
IR JH| 0.031 | 0.030 | 0.031 | 0.031 | 0.032 | (0.035) | 0.031 | 0.032 | 0.032 | 0.031
il JE| 0.029 | 0.029 | 0.029 | 0.029 | 0.030 | 0.029 | 0.028 | 0.028 | 0.029 | 0.028
H | 0.033 | 0.032 | 0.033 | 0.033 | 0.033 | 0.032 | 0.032 | 0.030 | 0.033 | (0.034)
VER I (] ¥F] 0.032 | 0.028 | 0.033 | 0.036 | 0.034 | 0.032 | 0.034 [ 0.032 | 0.034 | 0.031
i) 1] 0.033 [ 0.034 | 0.032 | 0.032 | 0.033 | 0.032 | 0.033 | 0.032 | 0.033 | 0.032
il vq] 0.033 | 0.028 | 0.032 | 0.032 | 0.033 | 0.031 | 0.031 [ 0.031 | 0.032 [ 0.030
& =f| 0.034 | 0.033 | 0.033 | 0.033 | 0.034 | 0.032 | 0.032 | 0.033 | 0.033 | 0.032
i M| 0.033 | 0.032 | 0.030 | 0.030 | 0.031 | 0.029 | 0.029 | 0.028 [ (0.028) | 0.027
K7 mp[HF 4% ¥ 0.028 | 0.031 | 0.033 | 0.035 | 0.034 | 0.034 | 0.031 | 0.034 | 0.030 | 0.037
o o i %  Fr] 0.032 | 0.032 | 0.034 | 0.034 | 0.035 [ 0.034 | 0.033 | (0.034) | 0.030 | 0.034
#HO& dfd %  pFr] 0.032 | 0.030 | 0.031 | 0.031 | 0.033 | 0.032 | 0.031 [ 0.035 | 0.033 | 0.031
Jf  fH Wi % ph] 0.035 | 0.034 | 0.034 | 0.035 | 0.037 | 0.036 | 0.037 | 0.037 | 0.037 | 0.036
b ol | S| 0.031 | 0.027 | 0.034 | 0.033 | 0.036 | 0.032 | 0.033 | 0.029 | 0.033 | 0.030
& B difi % P 0.029 | 0.033 | 0.033 | 0.032 | 0.033 | 0.031 | 0.033 | 0.032 | 0.033 | 0.032
WA difdi % Pl 0.034 | 0.035 | 0.037 | 0.036 | 0.038 | 0.036 | 0.037 | 0.037 | 0.038 | 0.037
ES J& A %] 0.033 | 0.032 | 0.033 | 0.033 | 0.034 | 0.033 | 0.033 | 0.033 | 0.033 | 0.033
E#5) 1 JeiEHALS, EMORERIE. 4 AS108 FTOREHEDZDH () 2 LTS,




#5-10

—RIVRAKAERICE(THEA 2 VRILKRORERRE (SM4EE)

6~ | o _gpe 6~ 9D 6~9MFD 6~9MFD
S 2B ?B'Jﬁéé SIRFIAIERIME | SHE R Ml )3 | 3FE R Sl 3

omT HE R/ ([N EERIALS) ?ﬁ 0.2ppmc% 0.31ppmc%&
(ppmC) i ) e | o Mx-B¥e | Ba-HEE

(ppmC) e B | XS | 2 pEl4(%) | 0B (%)

(ppmC) | (ppmC)

= I w011 0.14 364 | 0.45 | 0.02 | 67 | 18.4 9 2.5
It il & ] 0.14 0.12 313 | 0.35 | 0.05 | 21 6.7 2 0.6
= o 0.07 0.08 362 | 0.37 | 0.00 | 10 2.8 1 0.3

% gl 0.07 0.09 364 | 0.46 | 0.00 | 20 5.5 3 0.8

O = #l0.07 0.07 361 0.20 | 0.02 0 0.0 0 0.0
Mo il 0.04 0.05 363 | 0.45 | 0.00 6 1.7 1 0.3

4 w 0.10 0.11 365 | 0.39 | 0.01 | 33 9.0 2 0.5
ool & s 0.09 0.10 289 | 0.30 | 0.01 | 12 4.2 0 0.0
A ] 0.11 0.12 349 | 0.33 | 0.04 | 27 7.7 1 0.3

VI i v [ wl (0.07) | (0.12) | (191) |[(0.41)](0.00)| (31) [(16.2)| (2) | (1.0)
& % 0.09 0.11 361 0.47 | 0.00 | 25 6.9 5 1.4

2 /O B #l 0.09 0.10 349 | 0.38 | 0.02 | 22 6.3 2 0.7




£5-11 RIEEREVITIRHFRSRA (FM4EE) O: TH(LE) @i (FE)

H ek B I VAR S _ Jn o 7= \ o
Bl | A | F|E || = %fé?%aﬁ%ﬁﬁitoﬁﬁ%ﬂl‘l%i& ER
== M| & ||| E%F%“M%@E%%@é%%ﬁﬂ&%ﬁz‘%ﬁ

HH ﬁﬁﬁﬁ$ﬁ$iﬁ;ﬁﬁﬁﬁmﬂﬁﬁﬁﬁﬁmﬁﬁﬁﬁﬁ$i& W

(FEH) | K|S

7818 (%)

() (] (] (] 4
& |1RS | TR
| E#[EER 1 1 1 1 4

X ST ATERCHRME RS - I - R ) P ER (S X - & X - ZHEE X)), Tk (T K X - PE X)), AEFB(ER)



®5-12 FARR M—RBEFE-_S2JITHER

(&4 - A/L)
—fRIRiE ERNE
A% e -
wa | mm |FERL @ | 2p | mm t | emee| 2@ | mE | ons | JEHD | FES
ke A?& mi&kir | BRETE | B®RE | KEFS S RAETE | KATE | BREFTSE t;g;- INERR
THHT mEM EEmh FAH FiFH FEEEET MmESH | =20t | E2[th FHgE™ WA FEWETH EEmM
H7 0.07 0. 11
Ho 0.04 0.08 0.05
H10 0.05 0.06 0.07 0.07 0.06 0.08
Hi1 0.05 0.06 0.04 0.05 0.06 0.04
Hi2 0.05 0.09 0.05 0.04 0.04 0.06
W3 | R | 0.05 0.04 0.05 0.07 0.04
Hi4 0.04 0.04 0.05 0.04 0.05 0.04
Hs | s | FE | FRE | FRE | R Eo
W6 | Fms | FRE | R | FEm | 0.05 Eo
W7 | R | FRE | RRE | RRE | RRE | BB | FRE | R | FRE | e | el | R
s | g | TRE ) TRE g | orgw | TRE ) rpw | TRE O g | ommw | Fee | e
Ho | | R | R | R | SO0 | R | o | een | TEE D e | - | R
| TRE | TRE | FRE | FRE | FRE | - - - - T
H20 ~0.06 | ~0.06 | ~0.11 | ~0.16 | ~0.06 | THRH | F&RH | FHRH | FHRE ~0. 11
B - - FRE | TRE | TRE | FRE | - FRE || 7BE
H21 T | FRE | _gTog | FRE | 10706 | ~0.06 | ~0.06 | TERE | g1 ~0. 11
122 ~ 0.054 | 0055 | 00656 | 0056 | 0056 | 0069 | 0095 | 005 | 0082 ~ TR
~0.28 | ~0.070 | ~0.080 | ~0.10 | ~0.18 | ~0.092 | ~0.10 | ~0.088 | ~0.12 ~0.18
13 ~ 0.070 | 0056 | 7 | 008 | 0054 | 009% | 0053 | 005 | 0043 ~ TR
~0.15 | ~0.10 | ~0.082 | ~0.25 | ~0.056 | ~0.12 | ~0.32 | ~0.17 | ~0.060 ~0.12
™ ~ 0.12 011 | 0071 | 014 | 7 | 0.069 | 0069 | 0.068 | 0.093 ~ 0.14
~0.22 : ~0.16 | ~0.34 | ~0.12 | ~0.089 | ~0 078 | ~0.096 | ~0.13 ~0.16
o ~ 0.071 | 0.071 | o s5 | 0.082 | 0.069 | 0.055 | 0.004 | 0.056 | 0.046 ~ 0.15
~0.18 | ~0.081 | © ~0.10 | ~0.096 | ~0.14 | ~0.13 | ~0.080 | ~0.063 ~0.17
0.080 | 0070 | 005 | 008 | 0056 | 005 | 0053 0.093 0.13
H26 - ~0.14 | ~0.43 | ~0.071 | ~0.10 | ~0.071 | ~0.13 | ~0.080 | TH&HE | Zo13 - ~0.17
. . . Fy TR TR TR 0. 066 _ TR
H27 0.056 | 07090 | ~0 071 | 9996 | o052 | ~0.055 | ~0.10 ~0. 081
o8 ~ ~ ~ 0.12 0.15 | 0.091 | 029 0.23 0.14 0. 11 ~ 0.18
~0.29 | ~0.42 | ~0.45 | ~0.33 | ~0.25 | ~0.15 | ~0.15 ~0.21
10 ~ ~ ~ 0.071 | 0081 | F%&H | 012 | 0056 | 0090 | 0050 ~ 0.090
~0.11 | ~0.44 | ~0071 | ~0.14 | ~0.28 | ~0.23 | ~0.23 ~0.12
0.10 0.10 | 0.056 | 0071 | 008l 0.057 0.070
H30 - - - ~0.12 | ~013 | ~0.18 | ~0.11 | ~0.000 | 9996 | o 068 - ~0.17
o ~ ~ ~ 0.070 | 0071 | 0096 | 012 | 7&E | 011 | T&H ~ 0.078
~0.16 | ~0.43 | ~0.10 | ~0.23 | ~0.30 | ~0.31 | ~0 26 ~0. 090
~ ~ ~ 0. 056 TR FRE | FRE ~ 0.071
R2 ~0.12 | 0096 | _o'o71 | 0056 | 0.071 1 _5"056 | ~0. 055 ~0.18
o3 ~ ~ ~ 0.070 | F&E | 0.05 | 0056 | &HE | 005 | 0 055 ~ 0.070
~0.090 | ~0.056 | ~0.083 | ~0.071 | ~0.071 | ~0.090 | ~0.26 ~0. 080
. . . Fy TR TR TR 0.071 TR .
Ré 0.070 | 0712 | ~0.071 | ~0.056 | ~0.056 | ~0.081 | ~0.056 0.071
X1 [BBHAEERt 42— (FHI8, TEAEM&RAT (FHI9OETHE (LI, EHAE=4 Y VT #Ek)

2 TFTARRMEZAYUHTIZaTIL BRIEE) PWETSNizH, H2LBITHREBHBEEZFATE
(FaMMEREN 1 X/LEBBLEBAIC. TARNX FOREZERK)
H21E T, BEBHEREEICREDL ST 7ARX MEMBEEZAE
TEEBH TS MH2T~H30IL, =D D& THIE
TMAREFTE] DOH29 - H30(E., IMATIZFTTRIE
[EIFRETS) OHI0~HOE, EFEHEY HLOAIETEE

X3
X4
X5




&O-13 BRMEMAERR
ig\' AIEEE H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 R3 R4
355] #2F% 7K & (mm) 1,237 1,466 1,770 1,192 1,474 (1,097) 1,365 1,187 (1,132) | 1,844 1,154 1,604 1,403 950
ATHENERE | 44-56 | 45-50 | 45-53 | 40-54 | 44-51 | (43-52)| 46-52 | 44-52 | (44-50)| 44-58 | 43-51 | 43-52 | 42-51 | 45-52
TEEF i FEEHYE 48 48 48 4.7 4.7 (4.6) 48 48 (4.8) 49 47 4.9 48 49
Zé EC |&FF9fE(u S/cm) 19 15 14 19 16 (26) 17 16 an 24 17 12 13 15
SO,/ | EFHE(u g/mD) 2.11 1.29 1.36 1.7 1.39 (1.50) 1.32 1.32 (1.40) 1.30 1.27 0.79 0.79 1.17
NO;~ | FFHE(u g/ml) 1.68 0.86 0.87 1.12 1.01 (0.87) 0.91 0.93 (0.93) 0.55 0.92 0.63 0.69 1.03
=355 H2F% 7K & (mm) 2,008 2,138 2,630 2,044 1,948 (1,646) 1,258 1,626 1,778 1,579 1,150 1,884 1,850 1,628
ATHENEERE | 44-51 | 44-55 | 45-54 | 40-54 | 41-51 | (42-50)| 45-50 [ 45-55 | 45-53 | 45-6.2 | 46-52 | 35-53 | 43-55 | 49-54
e i FEEHYE 48 4.7 4.7 4.6 4.6 (4.5) 4.7 47 48 49 48 49 48 5.03
g EC |&FF9fE(u S/cm) 27 38 32 43 41 (43) 30 36 28 28 35 28 30 35.18
SO,/ | EFHE(u g/mD) 2.23 2.51 2.14 298 2.52 (1.92) 1.91 215 1.70 112 2.03 1.57 1.56 1.86
NO;~ | FFHE(u g/ml) 1.53 1.53 1.28 1.79 1.39 (0.96) 1.26 1.21 1.10 0.78 1.13 0.97 1.06 1.08

X EC.BRIGEE. SO,/ BB AA> NO; T4
() [F. FETFRFOLO—MRATHDSZLEERT .

H26 F P : 4 A E2BR U8 AEI~4BETRA

H26 2 :4 AE2:B~5AFE3BETRAE
H2OEMF :8AE1~4BFETRA
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